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Question 2. (8 marks) Graph y = —2sin(3x — x).
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Question 3. (8 mar ks) Find the components, magnitude and standard posmon angle of the sum X
ofA 237,64 =137.5"and B = 121, By = 196.4°

AX= Aesbp > 23T cos [32.5° = ~ 174, 735
ﬂ(&: Asnba = 2%3F5mn (3350 = '-(po,,‘{l{
B = Deoser = (2 cas /6.4 = ~11G.oFT
B@ Bsnbg = 12 s (16.4°= “qﬁ'_{“

2]

S B = Ax vBx = —1F4. 3387 ~y) e.ox%

= =Ry
R%‘ = rdc%rr@% ~

0 )15 — 39 (g7 - 126 . <

'éame(z:. |26
' = At 2 0
. =2 ‘C(ZEJ.ln *zﬁf”) 23.9"% = o
S 18 dorgy I
’ Ao a e g D

= 156.6°



Question 4. (8 marks) Use Cramer’s rule to solve for F} and £ in the systems below that are in
~ equilibrium. (Round to 3 significant figures)
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Quesfinrn 6. (10 inariks)
(a) Evaluate v224(3167)167 — X
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(b) Solve for x in log(x — 1) + log(3x +2) = 2
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Question 7. (5 marks) In curing concrete the strength f. after + days of curing is given by the

equation , .
f= f;: ( 1— e—kr)

where f. = 48Mpa is the ultimate strength. If & = 0.1045 how long does it take for concrete to
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the height h of the cable 150m from the lowest point of the cable? (Round to 4 significant figures).

* Hint: put the origin at the lowest point of the cable. .
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Questlon 9. (8 marks) Find the pomt(s) of intersection of the line that passes through the pomt

(1,3) with slope m = 3/4 and the circle 2x* 24 2(y—4)? = 50. Is this line a tangent line, secant
hne or neither?
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-Question 10. (8 marks) In testing an air-conditioning system that.was recently installed in a
. ’ b Ll_pg the temneratire in'a hirildine x
i

enrerd] dirine tha afRarnann haven sttt an wnnsalis

below. Find the least squares-line and graph this line over a plot of the data points. What would
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